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KR 2 2m=b m3 114
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AR 3 0.45m=b m3 130 [#REh 274 —
PEMRIE R BRI 1 b<1.0m m3 180 |{EEha 74—
Y NAD % o ol DA D m2 406
EmEIE  [FEmEE m2 390
iR IER AT [ B m3 93
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H1500 X B4000,L.=9.0m
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PCHiit it X [ 2
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B KM RC-40 m3 2
79977 —h ¢ 500 & 1
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LG T HeRE T | H ) APERE(1-A) H=1.75m m 1.4
) APERE(-B) H=1.75m m 1.4
H A APERE(1-C) H=1.75m m 1.4
H ) APERE(-D) H=1.75m m 2.5
H A PERE(-E) H=0.65m m 4.5
H ) APERE(-F) H=0.65m m 4.5
M T
BABRLET 22y
iZE T = B t=5cm m2 332 [ B At
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BAI Ty =T
INEE S RC-40, t=20cm | m2 332 | B Af%E
HALF]C-40
e t=10cm m?2 113 | EE e
Bhait . [H—RL—L Gr-C—4E m 97
H—RlL—)L Gr-C-2B m 14
BERXEE 1A T N EHEE A VP ¢ 150 m 3
VP ¢ 200 m 5
HP ¢ 150 m 6
HP ¢ 250 m 2
HP ¢ 300 m 2
HP ¢ 500 m 2
I T PN R, 1.0X1.0X1.0 | f# 8
s E T
HiEMRET (22— NgEL JEf m3 44
EZNIl] m3 20
a7 — N E ALy HER m3 35
A m3 9
EZNIl] m3 20
El LR BT As, t=bcm m 17
B RRABE A As, t=5cm m2 299
AsiRIER AL 7y T A7 7k m3 15
KLy T A7 7V m3 0.03
H—RL—uiik Gr-C-4E m 17
ik T
RERERE T | REHEREL t=25cm m2 1,612
BRI 22X 1524 X6096 | m2 424 4642
T T=vh m2 2,085
IRER % % [E s Dbz m3 264
Bk iE 1H m2 2,085
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e KT (MRHE KA B E R AYIFVVE, 400 | m 90
KA D5 iiYaz M N 14
PR~ ¢ 50mm, i 70.75kw| & 1
RIED +w m3 61
MR RDYAE m3 53
(RAEEI T | KA EDH DiDlac e 14
(R B R A% S Dbz m3 118
BERAR 22X 1524 X6096 | m2 56 [64%
(RERAENE | IRERAEE L=8.5m X 1
ExEEEY; | REFEREL m2 28
IRER A% % [E s Dbz m3 37
pael C-40, t=10cm m2 100
BEY R E C-40, t=10cm | m3 10
T T~vh m2 110
HHEE IR m2 110
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1LY
W Al ROO® B = B & &
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KR $E1 Im<b<2m:BF0.35m3| TEHEZ&LY
V= 362.6 =  362.6 | m3 363
K #E2 2m=b : BFO. 60m3 TEHEELY
V=" 114.3 = 1143 | m3 114
AHNERL
AHEBRA b<0.35m: %42 ITE8FHEELY
V= 8.3 = 83| m3d 8
ANEBERS  |045=b:4EBINYs-| LTEHEEKY
V=" 129.7 = 129.7 | m3 130
WWIER L
BHIER1  |[b<tom:iEBINYY-| LTEHEELY
V=" 179.8 = 179.8 | m3 180
ABFMSE TEHEELY
A= 406.4 = 406.4 | m2 406
EMmEIE ITEHEELY
A= 389.8 = 389.8 | m2 390
&RLERL S V= (362. 6+114. 3+264. 1+60. 3+117. 9+10. 0)
-(8.3+129. 7+179. 8+264. 1+52. 7+117.9) /0.9 = 93.1 | m3 93




+ & 3 B F (1)
Al R SR TH] PR E 1 R¥EL 2 JR#E2 3 AR i =
(m) Wr o (m2) PPSSWrE m2) 372 FH (m3) | Wi mi(m2) CPIWRE (m2) 372 FH (m3) | T M (m2) CPEIWTE (m2) 7 FH (m3)
NO. 4+10. 00 - 4.1 0.4 0.1
NO. 5+ 0. 00 15. 00 4.2 4. 15 62. 3 0.4 0. 40 6.0 0.1 0.10 1.5
NO. 5+ 4. 58 4.58 4.2 4.20 19.2 0.4 0. 40 1.8 0.1 0.10 0.5 IP. 1
NO. 6+ 0. 00 20. 42 4.2 4.20 85.8 0.4 0. 40 8.2 0.1 0.10 2.0
NO. 6+16. 94 16. 94 4.2 4.20 71.1 0.4 0. 40 6.8 0.1 0.10 1.7
NO. 6+16. 94 0. 00 4.7 5.9 0.0
NO. 6+20. 69 3.75 4.7 4.70 17.6 5.9 5.90 22.1 0.0 0. 00 0.0
NO. 6+24. 44 3.75 4.7 4.70 17.6 5.9 5.90 22.1 0.0 0. 00 0.0
NO. 6+24. 44 0. 00 4.9 0.6 0.1
NO. 7+ 0. 00 0. 56 4.9 4. 90 2.7 0.6 0. 60 0.3 0.1 0.10 0.1
NO. 7+ 0.94 0.94 4.9 4. 90 4.6 0.6 0. 60 0.6 0.1 0.10 0.1
NO. 7+ 0.94 0. 00 4.9 0.3 0.1
NO. 7+10. 23 9.29 4.9 4. 90 45.5 0.3 0. 30 2.8 0.1 0.10 0.9 IP. 2
NO. 8+ 0. 00 14. 77 0.0 2.45 36. 2 5.6 2.95 43.6 0.1 0.10 1.5
m m3 m3 m3
& & 90. 000 362. 6 114.3 8.3




=

+ =& B " # (1)
oo SR TH] PR E 5 AJJHRFE3 6 PRI 10 AJpift b 5 =
(m) Wr o (m2) PPSWTE (m2) 372 FH (m3) | Wr i (m2) CPIEWTE (m2) 37 m3) | K& (m) PR m) | m R (n2)
NO. 4+10. 00 - 1.2 1.3 3.9
NO. 5+ 0. 00 15. 00 1.2 . 20 18.0 1.4 1. 35 20. 3 4.1 4. 00 60. 0
NO. 5+ 4. 58 4.58 1.2 .20 5.5 1.4 1. 40 6.4 4.2 4. 15 19.0 IP. 1
NO. 6+ 0. 00 20. 42 1.2 . 20 24.5 1.5 1. 45 29.6 4.3 4.25 86. 8
NO. 6+16. 94 16. 94 1.2 . 20 20.3 1.5 1. 50 25.4 4.3 4. 30 72.8
NO. 6+16. 94 0. 00 4.1 7.3 6.1
NO. 6+20. 69 3.75 4.1 .10 15.4 7.3 7.30 27.4 6.1 6.10 22.9
NO. 6+24. 44 3.75 4.1 .10 15.4 7.3 7.30 27.4 6.1 6. 10 22.9
NO. 6+24. 44 0. 00 1.2 1.6 4.8
NO. 7+ 0. 00 0. 56 1.2 .20 0.7 1.6 1. 60 0.9 4.8 4. 80 2.7
NO. 7+ 0.94 0.94 1.2 .20 1.1 1.6 1. 60 1.5 4.8 4. 80 4.5
NO. 7+ 0.94 0. 00 1.2 1.7 4.8
NO. 7+10. 23 9.29 1.2 .20 11.1 1.7 1.70 15.8 4.8 4. 80 44.6 IP. 2
NO. 8+ 0. 00 14. 77 1.2 . 20 17.7 1.7 1.70 25.1 4.7 4.75 70.2
m m3 m3 m2
i 90. 000 129. 7 179.8 406. 4




+ = B (1)
Al R SR TH] PR E 11 JhmEaE i =
(m) £& ) PR m) | m o (n2)
NO. 4+10. 00 - .3
NO. 5+ 0. 00 15. 00 .3 4. 30 64.5
NO. 5+ 4. 58 4.58 .3 4. 30 19.7 IP. 1
NO. 6+ 0. 00 20. 42 .3 4.30 87.8
NO. 6+16. 94 16. 94 .3 4.30 72.8
NO. 6+16. 94 0. 00 .7
NO. 6+20. 69 3.75 .7 4.70 17.6
NO. 6+24. 44 3.75 .7 4.70 17.6
NO. 6+24. 44 0. 00 .3
NO. 7+ 0. 00 0. 56 .3 4.30 2.4
NO. 7+ 0.94 0.94 .3 4.30 4.0
NO. 7+ 0.94 0. 00 .3
NO. 7+10. 23 9.29 .3 4.30 39.9 IP. 2
NO. 8+ 0. 00 14. 77 .3 4.30 63. 5
m m2
i 90. 000 389. 8




MEHEE

Eh aYvy ) — MRET
18y
oAl iR % Hi g =X Hi &=
fHAEB R H1200 x B4000 56.9 4+ 24.1 = 81.0 [ m 81
EET WH)-MEY . t-10cm| EEEEEZE LY
[ZiF51E4E LS 208. 3 = 208.3 | m 208




HHILMRE  H1200 x B4000

10mz& Y
4000
Yy kS 4 3
B300 x t50 x L915 lfn‘ N S
BRI 7 — L
H1200 x B4000 (@1000)
1 i (%]
4000 30
N m‘q/, A
S gauipEsn
¢ S 7 H1200 x B4000 (@1000)
Ybry bsSaa ﬁmg /
B300 x t50 x L915 | L /
WA ‘ O\ B
J( N VEDT DY
18-8-40, t=10cm
4261
B X5 - fR& it g = B =
PLI
BE7—L H1200xB4000 | N= 10.0 / 1.0 = 10.00 10 &
B300 x t50
VR YAE I xL915 N= 4 x 2 x 10 = 80.00 80 #
18-8-40BB
JERIVH)-} t=10cm V=0.84 x 426 x 0.10 x 10 = 3.58 3.6 m3
[EsRaVY- PRI A= 0.84 x 0.10 x 2 x 10 = 1.68 1.7 m2
R LRSLE#4 t=10mm A=1.10 x 2 x 10 = 22.00] 22.0m2




+ & HoOE (1)
Al R SR TH] PR E 14 _3v))-15E Y iy =
(m) ER (n) PR m | m A (m2)
NO. 4+10. 00 - .0
NO. 5+ 0. 00 15. 00 .3 2. 15 32.3
NO. 5+ 4. 58 4.58 .1 2.20 10.1 IP. 1
NO. 6+ 0. 00 20. 42 .4 2.25 45.9
NO. 6+16. 94 16. 94 .4 2.40 40. 7
NO. 6+16. 94 0.00 .0
NO. 6+20. 69 3.75 .0 0. 00 0.0
NO. 6+24. 44 3.75 .0 0. 00 0.0
NO. 6+24. 44 0. 00 .1
NO. 7+ 0. 00 0. 56 .1 3.10 1.7
NO. 7+ 0.94 0.94 .1 3.10 2.9
NO. 7+ 0.94 0. 00 .2
NO. 7+10. 23 9.29 .2 3.20 29.7 IP. 2
NO. 8+ 0. 00 14. 77 .9 3.05 45.0
m m2
i 90. 000 208.3




&R HET .
18y
oAl b3z} & [} g = Hi &=
BRMET
B4000 x H1500 x L1500
&K Y-2R@ 1.00 = 1.00 | 1@ 1
B4000 x H1500 x L1500
EEAQ 1.00 = 1.00 | 1@ 1
B4000 x H1500 x L1500
M739 D 1.00 = 1.00 | {& 1
B4000 x H1500 x L1500
M759 @ 1.00 = 1.00 | {& 1
B4000 x H1500 x L1500
M43y & 1.00 = 1.00 | {& 1
B4000 x H1500 x L1500
M475y b® 1.00 = 1.00 | {& 1
PCHit % D
PCifi#E| @17BIE 15 17.60 = 17.60] m 18
TUh-7" b=t 90x 90X 19 16. 00 = 16.00| #& 16
Fyb = Dyve- 16.00 = 16.00| #H 16
439k 0.02 = 0.02| m3 0.02
MR
R HHFFLE#F| 300 x 300 % 30 1.08 1.08] m2
BIKM RC-40 1.62 1.62] m3
73975 =
K ¢ 500 1.00 1. 00| & Fr
A S 18-8-40BB 0.06 0.06| m3
i 3 0.92 0.92| m2
AN - bEERE
BE)LAJL| 1: 3BB. t=20mm 0. 81 0.81] m3
EwE1v)1)-1] 18-8-40BB, t=200mm 43.24 43.24] m2
i 3 5.56 5.56] m2
HuE#| RC-40, t=250mm 43.24 43.24] m2




H1500 x B4000

1ERTE Y

A Fh X5 -1 i g = B =
AKX B4000x H1500 x
(T-25) L15009-2%@ | N= 1.0 1.00 1 1@
B4000 x H1500 x
L1500%%&A® | N= 1.0 1.00 118
B4000 x H1500 x
L1500%7590D [ N= 1.0 1.00 118
B4000 x H1500 x
L1500M7590@ | N= 1.0 1.00 118
B4000 x H1500 x
L1500Mm™7590® | N= 1.0 1.00 118
B4000 x H1500 x
L1500 m™7590@® | N= 1.0 1.00 118
PGS ¥ ¢17 B 15| L= 2.95 x 4 4+ 1.45 x 4 17.60 18 m
TUh-7° b=} 90x90x19 N= 8+ 8 16. 00 16 #&
Fyb = Tyox- N= 8 + 8 16. 00 16 #H
539k V=0.011 + 0.005 0.016 0.02 m3
0% i B LE %4 300%x300%x30| A= 0.30 x 0.30 x 6 x 2 1.08 1.1 m2
BKH RC-40 V=0.30 x 0.30 x 9.00 x 2 1.62 1.6 m3
25y TH—k @ 500 N= 1.0 1.0 1 &R




15EKE H1500 x B4000
1#EmEY
A F X5 - iR i g = H =
fMgavs)—+ 18-8-40BB V=0.25 x x 0.60 0.116
-0.262 x 0.25 -0, 053
B 0.063 0.06 m3
ik A= 0.60 X X 2 0.924 0.9 m2
BEILAIL 1:3BB. t=20mm| V= 4.50 x x 0.02 0.810 0.8 m3
ErEav9)-+ 18-8-40BB, t=200mm| A= 4.70 x 43.24 43 m2
ik 3 A= (470 4+ 9.20) x 2 x 0.20 5.56 6 m2
HEEs RC-40. t=250mm| A= 4.70 X 43. 24 43 m2
EmEEIF A= 4.70 x 43. 24 43 m2




MEHEE

- BImiTHERE T

Al L &t # = B
ENHGBEE (1-0) H=1750m 1.40 = 14| m
FNHGERE (18) H=1750m 1.40 = 14| m
ENHBEE (1-0) H=1750m 1.40 = 14| m
ENHGER (1-D) H=1750m 2.50 = 25| m
ENHBEE (1) H=650m 4.50 = 45| m

EnEE (1-F) H=650m 4.50 = 45| m




= 1o B¥ =
FHABEE H=0.65m N

195 400
Gr-C-2B-4
arvol)—k
18-8-40 ‘
S ;% Eio
O — o
<
595
#F#==1.044 (1:0.3)
& ¥ X5 - 1R i g = 8 =
avyy—k 18-8-40BB | V= 1/2 x ( 0.40 + 0.595) x 0.65 x 10.0
-1/4 x 7w x 0222 x 0.25 x (10.0 / 4.0) = 3.21 3.2m3
B OB A= (0.65 x 1.044+ 0.65) x 10.0 = 13.29] 13.3m2
SGP200A

Gr Z ¢ $220x3.2 [ N=10.0 / 4.0 = 2.50 2.5 @i




FAHKEE H=1. 75m

10m¥ L
875 400
avhsy—k Gr-C-2B-4
18-8-40
1] 2
o &
= S S
— ~N, Lo
08
g‘_ pa
HLarvyy—+F
HEERa
Ro-d0 100 1275 00  18-8-40
1475 #1%=1.118 (1:0.5)
% ¥ X5 - iR i g = 8 =
avyy—+ 18-8-40BB | V= 1/2 x ( 0.40 + 1.275) x 1.75 x 10.0
“1/4 x 71 x 0222 x 0.25 x (10.0 / 4.0) = 14.63] 14.6 m3
B o8 A= (1.75 x 1.118+ 1.75) x 10.0 = 37.07| 37.1m2
g Lavhy-+ 18-8-40. t=10cm| V=1.475 x 0.10 x 10.0 = 1.48/ 1.5m3
g LIy g A= 0.10 x 2 x 10.0 = 200 2.0m
EBBRA RC-40. t=20cm| A= 1.475 x 10.0 = 14.75| 14.8 m2
SGP200A
GrEL 5 $220%3.2 | N=10.0 / 4.0 = 250 2.5 @&
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G r &8 0% 7 24 U

114.3 Gr-C-2B-4

Hﬁ
‘ S
| °’> D16, N=2 _EIfgkfn o
1T | L=1490 a
! o
400 g 2 =
' i MBS
AN 200,200 SGP200A 75 R & @ S
: ‘ o $220x 3.2 EEMHIR N
8 \ B2 g
S | B =
LO; Q [ap]
»
D16, N=1 THEREkHER =
B EATE L=1490 N
SGP200A A RE
¢ 220 % 3.2 EmEHR 300
& W X5 - 1R B g = B =
SGP200AH" A%
MAEMNE $220x3. 24k | N= 10.0 =  10.0 10 {&
SGP200AH R &
L=0.250 x 10.0 = 250 2.5m
JEm S AR
A=1/4 x 71 x 0.222 x 10.0 = 0.380 0.4 m2
W=0380 x o002 x 7850 kg/m3 = 9.546 9.5 kg
LEEE SD345,D16 | L=1.490 x 2 x 10.0 = 29.80
W= 29.80 x 1.56 kg/m = 46.488| 46.5 kg
T EBER AR SD345,D16 | L=1.490 x 1 x 10.0 = 14.90
W=14.90 x 1.56 kg/m = 23.244| 23.2 kg
EILZIL 1:3BB V= ( 1/4 x 7w x 0.222- 1/4 x g X 0.1142)
x 0.25 x 10.0 = 0.07] 0.07m3




HEHAE
R SET
=D
"B B it Cl = IEE
mEHE RE a2= 14.9 (HmEEHAEXY ) = 14.900 [ m2

BERMETAIL 20m a3- 13,4 (REHAEELY ) = 13.400

ad=104.7 (REFREELY ) = 104.700

ab= 56.5 (REFMEELY ) = 56.500

M= 1/2 x (291 4+ 2.93) x 1500 = 43.800

A= 1/2 x (275 4+ 3.12) x 2042 = 59 933

A= 1/2 x (3124 3.28) x10.00 = 32 000

M= 1/2 x (328 +4335) x 200 = 6630
5 = 331.863 | m2 332

TREREE
BEDTA=T0, ROA0 20| A= RRBIZE L = 331.863 | m2 332
REMHE B F

C-40.t=10cm  |q0- 99.6 (MEEHAMELY ) = 99.600

M= 1/2 x 3.58 x 0.21 = 0.376

A= 1/2 x (358 + 354) x 370 = 13.172
5 = 113.148 | m2 113




HEFES

FER BHEEMR T
14y
"B B it Cl = IEE
HmELE M H—FKL—JL BAK ER &R
(Gr-C—4E) L= 57.3 + 18.5 + 20.8 = 96.600 | m 96. 6
AA—KL—IL 1S EHEE
(Gr-C-2B) l= 10 x 3 + 1.66+ 450 x 2 = 13.660 | m 13.7




MEHEE

77 - RS EIAT
15 Y
@ Al T it = IR
RAEREEIR VP ¢ 150 L= 3.0 3.0l m 3
VP ¢ 200 L= 5.0 5.0/ m 5
HP ¢ 150 L= 2.8 + 3.0 5.8 m 6
HP ¢ 250 L= 2.0 2.0 m 2
HP ¢ 300 L= 2.0 2.0 m 2
HP ¢ 500 L= 2.4 2.4 m 2
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Hoaat R

IR M EE L ‘
1340
w5 Btk 7t 5 X NER
P-MNREEL | LT KREEEEEL| L= 90.0
(MR - — YR BLE)
(0.40+0.60) /10.0X90 9.00 | m3
€3]
3.40/10.0 X 90 30.60 | m3
155 EuEL €73 20.20 | m3
ColEEUEL L= 57.1
€3]
0.73/10.0X57.1 4.17| m3
e V= 9.00+30.60+4.17 43.77 | m3 44
78] V= 20.20 20.20 | m3 20
)Y —MEGE R AL Sy 1 V= 30.60+4.17 34.77 | m3 35
TRELE V= 9.00 9.00 | m3 9
R V= 20.20 20.20( m3 20
EHEERR BT As,t=5cm A= 77 4+ 48 + 12 + 3.2 169 | m 17
AL IR A As,t=5cm A= 162.4 + 72.4 + 64.3 299.1 | m2 299
AsHBEEPRAL Sy T AT 7Lk V= 299.1 X 0.05 = 14.96 | m3 15
V7K JLEE T AT 7Lk V= 169 X 0.17 / 100 = 0.03 | m3 0.03
H—RL— ik Gr-C-4E =11.8 + 5.1 169 m 17




TUNT KEEARIEEE L (H600 X B2500)

10m34Y)
TUNDKIBARI 7 — LEUE L
H600 x B2500
10 2500 70 1500
305 2340 030
A3:|:|] —.l_\ L | o
o g Wi gs TEmm | 3
© © (e
™ I~ Sio
- JQQ Ay =bavhy-+4 N2 JLH300 % |1 1495, t=50
€:::3:7)) (B#n)
50 2640 50 1495
2740 2 1380 2
4 R X7 - Bl it K il
AR — NHREE | A —ykELSLA1= (0 0.07 + 0.10 ) X 1/2 X 048 X 2 = 0.082
A2= ( 0.10 + 0.15 ) X 1/2 X 0.12 X 2 = 0.030
A3= 2.74 X 0.14 = 0.384
i = 0.496
V=0.496 X 0.12 X 10.0 / 1.50 = 0.397 0.40 m3

IRV |y R V= 0.30 X 0.05 X 1.495 X 4 X 10.0 / 1.50 0.598 0.60 m3

JEEAEa 7Y —h g V= 0.14 X 264 X 1.38 X 10.0 / 1.50 = 3.400| 3.40 m3

&




LS REGE UL

Li&E P40
1 EBEmIEL
NO. 6+20. 687
o
BREE
a=4. 41m2
AS $ /ﬂr AS
o N o
= c0 co%w;so;
\ /
\ L
J&}k****gg****jﬁo [.=4.58m
4 FR X7« SR i H K =
) —-MREEL ER V= 4.41 X 4.58 20.198| 20.20 m3




Cor L

10m34Y)
L
AS
Cosk Y HRiE L
t=10cm. #f5
% RL=0. 73m
|
4 R X5« SR i H K =
- MREEL . t=10em | V= 0.73 X 0.10 X 10.00 = 0.730] 0.73 m3




>\d§[§
B
Tl
_l_.
il
T

*ﬁ}%”: {}igﬁﬁ nI )
134D
o Rl 53] s H H = HAL| % &
KLHETREL t=25cm A= 11.60 X 139.0 = 1612.40 | m2 1612
H kAR 22X 1524X6096 |A= 139.0 X 1.524 X 2 = 423.67| m2 424
+AR=vb A= 139.00 X 15.0 = 2085.00 | m2 2085
G MRk i+ V= 1.90 X 139.0 = 264.10 | m3 264
PRk R A= 139.00 X 15.0 = 2085.00 | m2 2085




MRS

FRI: {58 AR T \

14249

Ao Bl i s it =1 = HAL| # &
K FYZFLUE . ¢ 400

AR IE S [=53.0 + 37.0 90.0| m 90

p il 2l i V=7.00 X 1.00 X 1.00 X 2 14.00 | m3 14

N=14.00 / 1.00 14.0 | 4§ 14

HekR 7 ¢ 50mm, H770.75kw| N= 1 1| & 1

RAEY +wh V= 60.90 (LEHHEELD) 60.90 | m3 61

HEL s4E+ V= 52.70 (LEHHEEID) 52.70 | m3 53




=,

K T + & B " E (1)
AUNS AT R 1 PR 2 MR fi§ =
(m) Wr m(m2) VWi (m2) 52 FH (m3) | Wr m(m2) Wi (m2) 32 FH (m3) | Wr Mi(m2) ~FHWri(m2) 37 F5 (m3)
NO.4+10.00 0.00 0.7 0.6
NO.5+ 0.00 15.00 0.7 0.70 10.5 0.6 0.60 9.0
NO.5+ 4.58 4.58 0.7 0.70 3.2 0.6 0.60 2.7 IP.1
NO.6+ 0.00 20.42 0.7 0.70 14.3 0.6 0.60 12.3
NO.6+16.94 16.94 0.7 0.70 11.9 0.6 0.60 10.2
NO.6+16.94 0.00 0.0 0.0
NO.6+20.69 3.75 0.0 0.00 0.0 0.0 0.00 0.0
NO.6+24.44 3.75 0.0 0.00 0.0 0.0 0.00 0.0
NO.6+24.44 0.00 0.0 0.0
NO.7+ 0.00 0.56 0.0 0.00 0.0 0.0 0.00 0.0
NO.7+ 0.94 0.94 0.0, 0.00 0.0 0.0 0.00 0.0
NO.7+ 0.94 0.00 0.9 0.8
NO.7+10.23 9.29 0.9 0.90 8.4 0.8 0.80 7.4 IP.2
NO.8+ 0.00 14.77 0.8 0.85 12.6 0.7 0.75 11.1
m m3 m3
i 90.000 60.900 52.700




WEAREE

FE R s Y) L
12340
Ao Bl b S #t B =Y HALl & &
KA+DH i = 77X 2 = 14 48 14
R s | e A = 6.7 X 176 = 117.92 | m3 118
HERAR 22X 1524 X 6096 = 1.524 X 6.096 = 55.74 | m3 56
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T
THF H300X 300X 10X 15| &k V = 75 X 93.0 X 2.0 = 1395.00 kg 1395
Bl OV = 1.0 X 93.0 X 2.0 = 186.00 kg 186
BT MD-1000 X 2000 X 208 A= 20 X 8.0 = 16.0 m2 16
B OV = 424.0 X 8.0 = 3392.0 kg 3392
oo [-300X90x9x13 |EH V = 381 X 8.0 X 2.0 = 609.60 kg 610
SHEU [-200X90X8X13.5|EH V = 1.9 X 303 X 3.0 = 172.711 kg 173
BTAVIED |[-200X90X8X13.5[EE V = 2.0 X 303 X 2.0 = 121.20 kg 121
AF-TF— PL-12X145%268 [®H V = 3.66 X 6.0 = 21.96 kg 22
FHZ7 V- | PL-9X200Xx200 |EE V = 2.83 X 8.0 = 2264 kg 23
FHZ7 - |PL-10X200X110 |EE V = 1.73 X 8.0 = 13.84 kg 14
Y77 b=} PL-12X190%X279 [®H VvV = 499 X 8.0 = 39.92 kg 40
MMF vk VM F10T-M22 X 60 N = 16.0 = 16.0 HH 16
HE V= 053 X 16.0 = 848 kg 8
PMTVyavR V| F10T-M22 X 70 N = 48.0 = 48.0 HH 48
HHE V = 056 X 48.0 =  26.88 kg 27
MMF vk VM F10T-M22 X 75 N = 16.0 = 16.0 HH 16
HE V= 057 X 16.0 = 912 kg 9
Al FHE fitks 712.3x950x 3000 [ EHX L = 8.00 X 2.0 = 16.00 m 16
THET
ik H300X300x10X15[EH V = 3.0 X 93.0 X 2.0 = 558.00 kg 558
BITAVIED |L-T5XT75X9 Bl OV = 03 X 996 X 4.0 = 11.95 kg 12
BRI 22 X 1524 X 3048 N = 20 = 2.0 e 2
BV = 1.524 X 3.048 X 0.022
X 7.850 X 2.0 X 1,000 = 1604.44 kg 1604
TH N T T/ O AT — Bt - 7B N = 1.0 = 1.0 = 1
ARERE T
EET B V = 1395.00 + 186.00 + 609.60 + 172.71
+ 121.20 + 21.96 + 22.64 + 13.84
+ 39.92 + 8.48 + 26.88 + 9.12 = 2627.4 kg 2627
BTG ERE A = 16.00 = 16.00 m2 16
AR E V = 16.00 = 16.00 m 16
THT Fe IR V = 558.00 + 11.95 + 160444 + 13.84 = 2188.2 kg 2188
TR A Ry (B BR<) V = 1,395.00 + 3,392.00 = 4787.0 kg 4787
YRR V = 1604.44 = 1604.44 kg 1604
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Ao Bl b S #t A 7 HAL| # &
KLHETREL vV = 27 %X 10.5 = 284 m3 28
(g -arEm | - VvV = 3.7 x 10.0 = 37.0 m3 37
Eg Al C-40, 10cm A = 10.0 x 10.0 = 100.0 m2 100
ORI C-40, 10cm VvV = 10.0 X 10.0 x 0.1 = 10.0 m3 10
+T~<vhk A = 10.5 x 10.5 = 110.3 m2 110

e A = 10.5 x 10.5 = 110.3 m2 110




